

Assignment 2  
16/EN601/002 A03004 JOHN OLA  
Chemical Engineering

Solution  
$$f(x) = e^{-0.5x} (4-x) - 2$$

From Newton's Raphson's equation,  
$$x_{i+1} = x_i - \frac{f(x_i)}{f'(x_i)}$$

$$f(x) = e^{-0.5x} (4-x) - 2$$

$$f'(x) = \frac{d}{dx} (e^{-0.5x} (4-x) - 2)$$

Let  $u = 4-x$  (Using product rule)  
 $v = e^{-0.5x}$

$$\therefore f'(x) = v \frac{du}{dx} + u \frac{dv}{dx}$$

$$f'(x) = e^{-0.5x} (-1) + (4-x) (-0.5e^{-0.5x}) - 0$$

$$f'(x) = -e^{-0.5x} - 0.5e^{-0.5x} (4-x) - 0$$

$$f'(x) = 0.5e^{-0.5x} (x-4) - e^{-0.5x}$$

Recall  $x_{i+1} = x_i - \frac{f(x_i)}{f'(x_i)}$

at  $i=0$ ,  $x = 0.5$

$$\therefore x_{0+1} = x_0 - \frac{e^{-0.5x_0} (4-x_0) - 2}{0.5e^{-0.5x_0} (x_0-4) - e^{-0.5x_0}}$$

$$x_1 = 0.5 - \frac{e^{-0.5 \times 0.5} (4-0.5) - 2}{0.5e^{-0.5 \times 0.5} (0.5-4) - e^{-0.5 \times 0.5}}$$

$$x_1 = 0.5 - \frac{0.72580277408}{-2.141702153}$$

$$= 0.838890606$$

at  $i=1$ ,  $x$

$$x_2 = x_1 - \frac{e^{-0.5x_1} (4 - x_1) - 2}{0.5 e^{-0.5x_1} (x_1 - 4) - e^{-0.5x_1}}$$

$$x_2 = 0.8388 - \frac{e^{-0.5 \times 0.8388} (4 - 0.8388) - 2}{0.5 e^{-0.5 \times 0.8388} (0.8388 - 4) - e^{-0.5 \times 0.8388}}$$

$$x_2 = 0.838890606 + 0.0460659809$$

$$x_2 = 0.8849565869$$

at  $i = 2$

$$x_3 = x_2 - \frac{e^{-0.5x_2} (4 - x_2) - 2}{0.5 e^{-0.5x_2} (x_2 - 4) - e^{-0.5x_2}}$$

$$x_3 = 0.88495 - \frac{e^{-0.5 \times 0.88496} (4 - 0.88496) - 2}{0.5 e^{-0.5 \times 0.88495} (0.88495 - 4) - e^{-0.5 \times 0.88495}}$$

$$x_3 = 0.8849565869 - \frac{1.235611371 \times 10^{-3}}{1.643060072}$$

$$x_3 = 0.8849565869 + 0.0037263$$

$$x_3 = 0.8849565869$$

at  $i = 3$

$$x_4 = x_3 - \frac{e^{-0.5x_3} (4 - x_3) - 2}{0.5 e^{-0.5 \times 0.884956} (0.884956 - 4) - e^{-0.5 \times 0.884956}}$$

$$= 0.8849565869 + \frac{1.235611371 \times 10^{-3}}{1.00619922}$$

$$x_4 = 0.8861914328$$



q6 i = 4

$$x_5 = x_4 - \frac{e^{-0.5x_4}(4-x_4)-2}{0.5 e^{-0.5x_4}(x_4-4) - e^{-0.5x_4}}$$

$$x_5 = 0.8861914328 - \frac{e^{-0.5 \times 0.8862}(4-0.8862)-2}{0.5 \times e^{-0.5 \times 0.8862}(0.8862-4) - e^{-0.5 \times 0.8862}}$$

$$x_5 = 0.8861914328 - \frac{-7.924438176 \times 10^{-7}}{-1.641649528}$$

$$x_5 = 0.885708721$$

q6 i = 5

$$x_6 = x_5 - \frac{e^{-0.5x_5}(4-x_5)-2}{0.5 e^{-0.5x_5}(x_5-4) - e^{-0.5x_5}}$$

$$x_6 = 0.885708721 - \frac{e^{-0.5 \times 0.8857}(4-0.8857)-2}{0.5 e^{-0.5 \times 0.8857}(0.8857-4) - e^{-0.5 \times 0.8857}}$$

$$x_6 = 0.885708721 - \frac{1.33026708 \times 10^{-7}}{-0.9999 - 0.642201}$$

$$= 0.885708721$$

$$E_{x_{i+1}} = \left| \frac{x_{i+1} - x_i}{x_{i+1}} \right| \times 100$$

at  $i = 0$

$$E_{x_1} = \frac{0.838890606 - 0.5}{0.838890606} \times 100$$

$$= 40.39747299$$

at  $i = 1$

$$E_{x_2} = \frac{0.8849565869 - 0.838890606}{0.8849565869} \times 100$$

$$= 5.205450932$$

at  $i = 2$

$$E_{x_3} = \left| \frac{x_3 - x_2}{x_3} \right| \times 100$$

$$= \frac{0.8849565869 - 0.8849565869}{0.8849565869} \times 100$$

$$= 0.0132226$$

at  $i = 3$

$$E_{x_4} = \left| \frac{x_4 - x_3}{x_4} \right| \times 100$$

$$= \frac{0.8861914328 - 0.8849565869}{0.8861914328} \times 100$$

$$= 0.1393430194$$



q6 i = 4

$$\varepsilon_{\gamma} \gamma_3 = \left| \frac{\gamma_{L3} - \gamma_{L4}}{\gamma_{L3}} \right| \times 100$$

$$\varepsilon_{\gamma} \gamma_3 = \left| \frac{0.885708721 - 0.8861714328}{0.885708721} \right| \times 100$$

$$= +0.05450006176$$

q6 i = 5

$$\varepsilon_{\gamma} \gamma_4 = \left| \frac{\gamma_{L4} - \gamma_{L5}}{\gamma_{L4}} \right| \times 100$$

$$= \left| \frac{0.885708721 - 0.885708721}{0.885708721} \right| \times 100$$

$$= 0 //$$

Assignment 3  
 ADEOLU JOHN OLA  
 16/ENH01/002  
 Chemical Engineering

Solution  
 Estimate the value of temperature using Gauss elimination method

$$\begin{aligned}
 T_1 + T_2 - 2T_3 + T_4 + 3T_5 - T_6 &= 4 \\
 2T_1 - T_2 + T_3 + 2T_4 + T_5 - 3T_6 &= 20 \\
 T_1 + 3T_2 - 3T_3 - T_4 + 2T_5 + T_6 &= -15 \\
 5T_1 + 2T_2 - T_3 - T_4 + 2T_5 + T_6 &= -3 \\
 -3T_1 - T_2 + 2T_3 + 3T_4 + T_5 + 3T_6 &= 16 \\
 4T_1 + 3T_2 + T_3 - 6T_4 - 3T_5 - 2T_6 &= -24
 \end{aligned}$$

In matrix form

$$\begin{bmatrix} 1 & 1 & -2 & 1 & 3 & -1 \\ 2 & -1 & 1 & 1 & 1 & -3 \\ 1 & 3 & -3 & -1 & 2 & 1 \\ 5 & 2 & -1 & -1 & 2 & 1 \\ -3 & -1 & 2 & 3 & 1 & 3 \\ 4 & 3 & 1 & -6 & -3 & -2 \end{bmatrix} \begin{bmatrix} T_1 \\ T_2 \\ T_3 \\ T_4 \\ T_5 \\ T_6 \end{bmatrix} = \begin{bmatrix} 4 \\ 20 \\ -15 \\ -3 \\ 16 \\ -24 \end{bmatrix}$$

Using Gauss elimination method

Pivot row = row 1, pivot element first element in row

$$\therefore f_1 = 2/1, f_2 = 1/1, f_3 = 1/1, f_4 = -3/1, f_5 = 4/1, f_6 = -2/1$$

$$\begin{bmatrix} 1 & 1 & -2 & 1 & 3 & -1 \\ 2-(2(1)) & -1-(2(1)) & 1-(2(-2)) & 1-(2(1)) & 1-(2(3)) & -3-(2(-1)) \\ 1-(1(1)) & 3-(1(1)) & -3-(1(-2)) & -1-(1(1)) & 2-(1(3)) & 1-(1(-1)) \\ 5-(5(1)) & 2-(5(1)) & -1-(5(-2)) & -1-(5(1)) & 2-(5(3)) & 1-(5(-1)) \\ -3-(-3(1)) & -1-(-3(1)) & 2-(-3(-2)) & 3-(-3(1)) & 1-(-3(3)) & 3-(-3(-1)) \\ 4-(4(1)) & 3-(4(1)) & 1-(4(-2)) & -6-(4(1)) & -3-(4(3)) & -2-(4(-1)) \end{bmatrix}$$



$$= \begin{bmatrix} 4 \\ 20 - (2 \times 4) \\ -15 - (1 \times 4) \\ -3 - (5 \times 4) \\ 16 - (-3 \times 4) \\ -27 - (4 \times 4) \end{bmatrix}$$

$$\begin{bmatrix} 1 & 1 & -2 & 1 & 3 & -1 \\ 0 & -3 & 5 & 0 & -5 & -1 \\ 0 & 2 & -1 & -2 & -1 & 2 \\ 0 & -3 & 9 & -6 & -13 & 6 \\ 0 & 2 & -4 & 6 & 10 & 0 \\ 0 & -1 & 9 & -10 & -15 & 2 \end{bmatrix} \begin{matrix} T_1 \\ T_2 \\ T_3 \\ T_4 \\ T_5 \\ T_6 \end{matrix} = \begin{bmatrix} 4 \\ 12 \\ -19 \\ -23 \\ 28 \\ -43 \end{bmatrix}$$

Pivot row is row 2,

Pivot element is second element in row 2

$$f_1 = +2/3, f_2 = -3/-3 = 1, f_3 = -2/3, f_4 = -1/-3 = 1/3$$

$$\begin{bmatrix} 1 & 1 & -2 & 1 & 3 & -1 \\ 0 & -3 & 5 & 0 & -5 & -1 \\ 0 & 0 & 2/3 & -2 - (0(-2/3)) & -1 - (-2/3(-5)) & 2 - (-1(-2/3)) \\ 0 & 0 & 9 - (1(3)) & -6 - (0(1)) & -13 - (-5(0)) & 6 - (-1(1)) \\ 0 & 0 & -4 - (5(-2/3)) & 6 - (0(-2/3)) & 10 - (-5(-2/3)) & 0 - (-1(-2/3)) \\ 0 & 0 & 9 - (5(4/3)) & -10 - (0(1/3)) & -15 - (4 \times -5) & 2 - (-1(1/3)) \end{bmatrix} \begin{matrix} T_1 \\ T_2 \\ T_3 \\ T_4 \\ T_5 \\ T_6 \end{matrix}$$

$$= \begin{bmatrix} 4 \\ 12 \\ -19 + (2/3 \times 12) \\ -23 - (12) \\ 28 + 2/3(12) \\ -43 - 1/3(12) \end{bmatrix}$$

$$\begin{bmatrix} 1 & 1 & -2 & 1 & 3 & -1 & 4 \\ 0 & -3 & 5 & 0 & -5 & -1 & 12 \\ 0 & 0 & 2/3 & -2 & -13/3 & 4/3 & -11 \\ 0 & 0 & 4 & -6 & -8 & 7 & -35 \\ 0 & 0 & -2/3 & 6 & 20/3 & -2/3 & 36 \\ 0 & 0 & 22/3 & -10 & -210/3 & 2/3 & 48 \end{bmatrix}$$

$$\begin{bmatrix} 1 & 1 & -2 & 1 & 3 & -1 & 4 \\ 0 & -3 & 5 & 0 & -5 & -1 & 12 \\ 0 & 0 & 2/3 & -2 & -13/3 & 4/3 & -11 \\ 0 & 0 & 4 - 12/2(2/3) & -6 - (2/2(-2)) & -8 - (12/2(-13/3)) & 7 - 12/2(4/3) & -35 - 12/2(-11) \\ 0 & 0 & -2/3 + 2/2(2/3) & 6 + (2/2(-2)) & 20/3 - 2/2(-13/3) & -2/3 + 2/2(4/3) & 36 + 2/2(-11) \\ 0 & 0 & 22/3 - 22/2(2/3) & -10 - (22/2(-2)) & -210/3 - 22/2(-13/3) & 2/3 - 22/2(4/3) & 48 - 22/2(-11) \end{bmatrix}$$

$$= \begin{bmatrix} 4 \\ 12 \\ -11 \\ -35 - 12/2(-11) \\ 36 + 2/2(-11) \\ -24 - 22/2(-11) \end{bmatrix}$$

$$\begin{bmatrix} 1 & 1 & -2 & 1 & 3 & -1 \\ 0 & -3 & 5 & 0 & -5 & -1 \\ 0 & 0 & 2/3 & -2 & -13/3 & 4/3 \\ 0 & 0 & 0 & -10/2 & -4/2 & 38/2 \\ 0 & 0 & 0 & 38/2 & 38/2 & 2/2 \\ 0 & 0 & 0 & -26/2 & -26/2 & -13/2 \end{bmatrix} \begin{bmatrix} T_1 \\ T_2 \\ T_3 \\ T_4 \\ T_5 \\ T_6 \end{bmatrix} = \begin{bmatrix} 4 \\ 12 \\ -11 \\ -109/2 \\ 230/2 \\ -87/2 \end{bmatrix}$$

Pivot row is row 4.

Pivot element is fourth element on row 4

$$f_1 = 38/2 \div -10/2 = -38/10 = -19/5$$

$$f_2 = -26/2 \div -10/2 = 26/10 = 13/5$$



$$\begin{bmatrix} 1 & 1 & -2 & 1 & 3 & -1 \\ 0 & -3 & 5 & 0 & -5 & -1 \\ 0 & 0 & 7/3 & -2 & -13/3 & 4/3 \\ 0 & 0 & 0 & -18/7 & -4/7 & 33/7 \\ 0 & 0 & 0 & 38/7 + (9/7 \times -18/7) & 35/7 + (17/7 \times -18/7) & -2/7 + (19/7 \times -18/7) \\ 0 & 0 & 0 & -26/7 + (13/9 \times 18/7) & 2/7 - (13/9 \times -18/7) & 13/7 - (13/9 \times 29/7) \end{bmatrix} \begin{bmatrix} T_1 \\ T_2 \\ T_3 \\ T_4 \\ T_5 \\ T_6 \end{bmatrix} = \begin{bmatrix} 4 \\ 12 \\ -11 \\ -113/7 \\ 235/7 - (-115/7) \\ -13/7 - (-113/7) \end{bmatrix}$$

$$\begin{bmatrix} 1 & 1 & -2 & 1 & 3 & -1 \\ 0 & -3 & 5 & 0 & -5 & -1 \\ 0 & 0 & 7/3 & -2 & -13/3 & 4/3 \\ 0 & 0 & 0 & -18/7 & -4/7 & 33/7 \\ 0 & 0 & 0 & 0 & 38/9 & 29/3 \\ 0 & 0 & 0 & 0 & 10/9 & -26/3 \end{bmatrix} \begin{bmatrix} T_1 \\ T_2 \\ T_3 \\ T_4 \\ T_5 \\ T_6 \end{bmatrix} = \begin{bmatrix} 4 \\ 12 \\ -11 \\ -113/7 \\ -11/9 \\ 98/9 \end{bmatrix}$$

Pivot row is row 5

Pivot element is fifth element in row 5

$$P_1 = 10/9 \div 38/9 = 10/38$$

$$\begin{bmatrix} 1 & 1 & -2 & 1 & 3 & -1 \\ 0 & -3 & 5 & 0 & -5 & -1 \\ 0 & 0 & 7/3 & -2 & -13/3 & 4/3 \\ 0 & 0 & 0 & -18/7 & -4/7 & 33/7 \\ 0 & 0 & 0 & 0 & 38/9 & 29/3 \\ 0 & 0 & 0 & 0 & 10/9 - (10/38 \times 38/9) & -26/3 + (10/38 \times 29/3) \end{bmatrix} \begin{bmatrix} T_1 \\ T_2 \\ T_3 \\ T_4 \\ T_5 \\ T_6 \end{bmatrix} = \begin{bmatrix} 4 \\ 12 \\ -11 \\ -113/7 \\ -11/9 \\ 98/9 - (10/38 \times 11/9) \end{bmatrix}$$

$$\begin{bmatrix} 1 & 1 & -2 & 1 & 3 & -1 \\ 0 & -3 & 5 & 0 & -5 & -1 \\ 0 & 0 & 7/3 & -2 & -13/3 & 4/3 \\ 0 & 0 & 0 & -18/7 & -4/7 & 33/7 \\ 0 & 0 & 0 & 0 & 38/9 & 29/3 \\ 0 & 0 & 0 & 0 & 0 & -213/19 \end{bmatrix} \begin{bmatrix} T_1 \\ T_2 \\ T_3 \\ T_4 \\ T_5 \\ T_6 \end{bmatrix} = \begin{bmatrix} 4 \\ 12 \\ -11 \\ -113/7 \\ -11/9 \\ 215/19 \end{bmatrix}$$

1

Multiplying the <sup>matrix</sup>  $(-213/19) X_6 = 213/19$

$$\frac{19}{213} \times -\frac{213}{19} X_6 = \frac{213}{19} \times \frac{19}{213}$$

$$-X_6 = 1$$

$$X_6 = -1$$

Also,  $0 + 38/9 X_5 + 21/3 T_6 = -11/9$

at  $T_6 = -1$

$$38/9 T_5 = -11/9 + 21/3$$

$$T_5 = 96/9 \times 9/38$$

$$T_5 = 2$$

$$-18/7 T_4 - 4/7 T_5 + 33/7 T_6 = -113/7$$

where  $T_5 = 2, T_6 = -1$

Therefore,  $-18/7 T_4 - 4/7(2) + 33/7(-1) = -113/7$

$$-18/7 T_4 = -113/7 + 24/7$$

$$T_4 = -72 \times 7/18$$

$$T_4 = 4$$

To get  $T_3$

$$21/3 T_3 - 2 T_4 - 13/3 T_5 + 4/3 T_6 = -11$$

$$21/3 T_3 - 18 = -11$$

$$21/3 T_3 = -11 + 18$$

$$T_3 = 7 \times 3/7$$

$$T_3 = 3$$



To get  $T_2$

$$-3T_2 + 5T_3 - 5T_5 - T_6 = 12$$

$$-3T_2 + 5(3) + 0 - 5(2) + 1 = 12$$

$$-3T_2 + 6 = 12$$

$$-3T_2 = 12 - 6$$

$$T_2 = -2 //$$

To get  $T_1$

$$T_1 + T_2 - 2T_3 + T_4 + 3T_5 - T_6 = 4$$

$$T_1 - 2 - 2(3) + 4 + 3(2) - (-1) = 4$$

$$T_1 - 2 - 6 + 4 + 6 + 1 = 4$$

$$T_1 = 4 - 3$$

$$T_1 = 1 //$$

Therefore,

$$\begin{bmatrix} T_1 \\ T_2 \\ T_3 \\ T_4 \\ T_5 \\ T_6 \end{bmatrix} = \begin{bmatrix} 1 \\ -2 \\ 3 \\ 4 \\ 2 \\ -1 \end{bmatrix} //$$